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No.19 %+ 50m BEBH
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B A LL—R iRk

SERCE 32.69

B K £ T B 2E KK icE
1 ZZH  HFE KSCHF /N4 2/ 3 37. 81 6% ( 0.66)
2 HH/: KSCTH N4 2/ 5 39. 31 5%% ( 0.75)
3 HEREAT KSCER) /N4 2/ 4 39.37 5%k ( 0.71)
4 B T 2T ¢ F /N3 1/ 3 39.99 8#% ( 0.76)
5 PiA L T 2T 4 F /N3 2/ 2 40. 31 8k (0.64)
6 [ =BG REH] T AT 4 F /N3 2/ 1 40. 77 %% ( 0.62)
TRE E3 T 2T 4 F /N3 1/ 5 42.22 T#%  ( 0.89)
8 R I 5SS /N4 2/ 6 44.02 3%k ( 0.85)
9 Rl Fr K S CE=E)II /N4 2/ 7 44. 05 *F) 3% (0.87)
10 KR BEAR T AT 4 F /N3 1/ 6 47.16 3% ( 0.88)
11 22k Bk KS CER)I /N3 1/ 2 47.17 3f%k  ( 0.94)
12 TN RAE KOJAK /N3 1/ 7 55. 26 ( 1.07)
13 %6 #EHR HEE S C /N3 1/ 4 1:00.10 «F&h ( 0.78)
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